CFM.

Designz*

&

- W R E R B E(PA)R R B R A EME, ®EA, Ylw, AR
B EAM A FHEA,
- BagEE, THHE,
- FoA TAEIR Z 36 [ -30°CE +140°C,
- AISI303F 4 4 e 44,
'%%ﬁ%:
— 25 A TR~ AE £ E L,
AT AWML E L ET., 44 UNIB592(DIN433421S07092) 4 [ ,
2% 9 4L A R AT,
1345 4L R AT, DRI ATAASAELEI,
— 1 ERFFEAF, WEIHRATRAMLE2EL,
- e . BA270°, #EOQ°EH-90° )\ R 0°E[180° z [0 (0°=T M T 1Y
rEEF-—FELAFERL), FEBAREANRRE(ELE), F0F
2% e gk B AL B

FPERRAY, BERBEAFTENAKEERGLE, H5LFE5247
L HHEE,

180°

J

o

A

|
l
f

AR

! L

5

of
I__“HF

J@ &

h

]i ! ; e w@&—%

21|

da |d3 | -

h1

h

—
H
=

!
A

dz
i 3, CH AT (p)

ds

T, |

. - el
— — | ds

dz2
8 #F(p) / @ 3. SH 4 47 (p) / 3 3, CH

—
oL R 45

@ [ Elemnn'l'[n'] "ELESA™ and "GANTERGRIFF" models all rights reserved in accordance with the law. Always mention the source
when reproducing our drawings.




CFM.

Design F#y°

e Aan
— i Y !
FrEH Rt AET &7 =
K8 i = L f 2025 H hi hz b1 d dz | da d4 ds h3 g
425511 | CFM.40 SH-5 55 105 - - 14
425512 | CFM.40 CH-5 - - 55 - 105 17 14
425521 | CFM.40 p-M5x12 40 25 9 55 5 14 4 M5 12 _ - - - 26
425531 | CFM.40 p-M5x12-SH-5 M5 12 55 105 - - 20
425532 | CFM.40 p-M5x12-CH-5 M5 12 55 - 105 17 20
425611 | CFM.50 SH6 - - 65 125 - - 30
425612 | CFM.50 CH-6 - - 65 - 125 3 30
425621 | CFM.50 p-M6x12 50 30 15 65 A 18 6 M6 12 - - - - 50
425631 | CFM.50 p-M6x12-SH-6 M6 12 65 125 - - 40
425632 | CFM.50 p-M6x12-CH-6 M6 12 6.5 - 125 40
425711 | CFM60 SH-8 - - 85 165 - - 57
425712 | CFM60 CH-8 - - 85 - 165 37 57
425721 | CFM.60 p-M8x14.5 60 36 15 85 8 21 8 M8 145 , - - - 101
425731 | CFM.60 pMBx14.5-SH-8 M8 145 85 165 - - 79
425732 | CFM.60 pMBx14.5CH-8 M8 145 85 - 165 37 79
© © ~
«~|§ § |- f
©®[T®© —)
75 A E WA EE 90° &% A 5
HTHHREEHESE, A "RATIEERT" f "HHEF" HLFEMHE,
REIZNEE o= R E 90° FZNRE AR N4
'H:E ﬂ = . . [N * ITI]
= ﬁ:‘:EIﬁEﬁﬁf ﬁ:‘céﬂ?ﬁﬁ ﬁ:'iliﬁﬁ:ﬁ SH/CH B p
r[N] [N] S0[N] R
425511 | CFM.40 SH-5 1900 1900 1280 3 - | -
425512 | CFM.40 CH-5 1600 1900 1000 5 - |-
425521 | CFM.40 p-M5x12 1900 2000 1000 - - | 5
425531 | CFM.40 p-M5x12-SH-5 1900 1900 1000 3 - | 5
425532 | CFM.40 p-M5x12-CH-5 1600 1900 1000 5 - | 5
425611 | CFM.50 SH-6 2400 2630 1720 A ||
425612 | CFM.50 CH-6 2410 2860 1360 A | _ |-
425621 | CFM.50 p-M6x12 2560 2340 2100 - - | A
425631 | CFM.50 p-MBx12-SH-6 2400 2340 1720 A | _ | A
425632 | CFM.50 p-M6x12-CH-6 2410 2340 1360 A | _ | A
425711 | CFM60 SH-8 2960 3320 3070 A - | -
425712 | CFM.60 CH-8 2810 3440 2170 A - | -
425721 | CFM.60 p-M8x14.5 3940 3000 2130 - - | A
425731 | CFM.60 p-M8x14.5-SH-8 2960 3000 2130 A | _ | A
425732 | CFM.60 p-M8x14.5-CH-8 2810 3000 2130 A | _ | A

* JAEHEEBIENM, FEFRERFTHHE,

“ELESA" and "GANTERGRIFF" models all rights reserved in accordance with the law. Always mention the source
when reproducing our drawings.

2 (€lesaGANTER]




